Apphed Finite Mathematics, 3 ed, 2016 Sekhon,/Bloom

Chapter 2: Matrices

Answers to Odd Numbered Homework Problems and

- Answers to all Problems in the Chapter Rewew Section
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, 2.2 System of Linear Equations; Gauss-Jordan itethod
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5). (0.4,0.3) , 7 43,2, 0
. 2.3 Bystem of Linear Equations; Gauss -—-épeciai Cases
N 1. 4-3,9 ) : .3). Inconsistent sysiem, no solution
5. (3 - 4!7 t,’_fl‘ + 1.6/7 i) 7). No, they are not consistent,
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11}. ifamatrix M has an inverse, then the system of linear equations that has M as its
coefficient matrix has a unique solution, Ifa system of linear equations has a utique -
solution, ther: the number of equations must be the same as the number of varigbles,
Therefore, the matrix that represent its coefficient matrix must be a square matrix,

2.5 Application of Matrices in Cryptography
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7). HEAD FOR THEHILLS

2.8 Applications — Leontief Models

). (t,—-2, 1)3). Chris= 81250, Ed= $1,000 : 5).

7). Farming = $201,754.38, Building = $307,017.54  9).
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Answers To Qud-numbered Pmbisnis

2.7 Chapter Review
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7). Anple = $.50; bansoa = 3,30; orange =340
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9on=3t- 1k d=-dt+ 24, q=L =3, d= 4, g=5
10}, 8, x= a2 y=tz=3 (4,0,3) b x= 54t y=2tz=6(1,1)
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16). x=40/33 t,y = 36/33 t, 2 = t; Chris = 40 brs, Bob = 36 hrs, Matt = 33 fus

17). Chris = 34.1 brs, Bob = 32.2 lirs, BMatt == 35.2 hrs






